
1

4a

4

3

2

6

26

5

7

26

7

8

15 9 13 11
12

15

9 16

7

17

18

19

19
20

7
6

10

21
22

23
24

23

25

24

35

34

31
33

33

32

32

30
2736

37

38

38

28

RA 530 B B 4-01.2012Saugdüse gerade / Bec de dévolteur justement / Suction nozzle even

RA 530 B
Suction nozzle



RA 530 B
Suction nozzle

Pos. Description Reference

01 Suction hose complete including
Items 2-4a 530.745

02 Hose socket 35 mm P...576

03 Suction hose 770 mm 530.747

04 Hose socket P...575B

04a Seal 500.412

05 Tractor nozzle holder 530.801

06 Bolt 530.815

07 Security washer 7 mm P...513P

08 Adjusting spindle complete including
Items 9-13 450.366

09 Ball socket P...512A

10 Threaded pin, left 450.366E

11 Threaded pin, right 450.366D

12 Thread socket 450.366A

13 Screw knob P...494Y

15 Ball pin P...512B

16 Connecting piece 530.803

17 Support 530.802

18 Cuff cylinder cpl. (until weel 49/97) 530.822

18 Cuff cylinder (after week 50/97)
withhout pins 530.822

19 Spring pin (only until week 49/97) P...512T

20 Cuff cylinder (after week 50/97) 530.822

20 Cuff cylinder (only until week 49/97) 530.820

21 Hexagon screw M 6x12 mm P...470R

22 Serrated lock washer M6 P...498K

23 Hexagon screw M 8x12 mm P...471C

24 Serrated lock washer M8 P...498G

25 Support 530.804

26 Tractor nozzle complete including
Items 27-38 530.600

27 Holder for rubber blades 530.601

28 560.080

28 Suction lips set, standard 530.080

30 Nozzle end piece 530.606

31 Clamping guide 530.602

32 Nozzle tightening clamp P...253B

33 Star handle 530.607

34 Screw knob P...494X

35 Hexagon socket screw M 6x35 mm P...486U

36 Washer dm 6/16x1 mm P...497M

37 Distance ring 6/8x27,5 mm 530.609

38 Fender wheel 50 mm 450.364F




